TIRBEE REREREGEETFEAR

[1E8 %]

_E K4 £ | BUFE B FE JIE vk B HFRAE JIE
TORKEIZST 2H T 1 8.900 1 5.100 1 6.250 1 20.250 1
FIE K4 2£ | BUF JIE EHE JIE vk JIE gL85 JIE
TORKIEIST Fikh £ 2 8.400 3 7.100 3 7.300 2 22.800 3
TORKIEIST K EH 2 8.500 2 7.400 2 7.000 3 22.900 2
[T RKESST EO F & 2 9.000 1 8.350 1 7.600 1 24950 1
FE K4 2£ | BUF J e JIE <k B 85083 J

I B XA VHE %58 Fiik 3 8.000 2 6.750 1 6.050 3 20.800 2
I B RV E o & 3 8.600 1 6.400 3 8.250 1 23.250 1
ToRKESST =S 3 7.500 3 6.650 2 6.300 2 20.450 3
FE K& 25 | BUF B IHE JIE vk JIE g083 JIE

I B XA VEHE INEFR 1KY 4 8.200 5 6.200 6 6.700 6 21.100 6
TORKIEIST EO KEE 4 9.000 1 7.600 4 7.500 2 24.100 2
TORKIEIST =248 Tis 4 8.600 2 7.800 3 7.350 4 23.750 4
TORKIEIST el FERF 4 8.500 3 8.550 1 7.450 3 24.500 1
TORKEIST R KF 4 7.900 6 8.400 2 7.550 1 23.850 3
TORKIEIST 25 EX 4 8.300 4 7.550 5 7.350 4 23.200 5
€S2 I - _ _ _ _ _ _
FIE K SRAE Bk B I E JIE Ik B Bo83 JIE

SEINO.GYM AT 5 8.90 1 7.950 1 7.800 1 24.650 1
I BBy 1= 7{KiEH57 B G 5 8.400 3 7.650 2 7.800 1 23.850 2
TORKEIST KB HULE 5 8.500 2 6.000 4 6.950 3 21.450 4
[ TORAIEIST B BRE 5 8.000 4 7.000 3 6.900 4 21.900 3
FE K4 A Bk B EHE JIg Ik JIE SR85t JIE

SEINO.GYM F0E &K 6 8.600 1 7.750 1 7.700 1 24.050 1
E 2 PE | PE I 9 IE <k B [5583 IE
TAVRAIERE hngk S g1 8.000 1 5.850 1 4.900 1 18.750 1
_FTiE K4 A k5 B EHE JIE <k JIB SEE5 JIE

TA) RKIEH=E HES D 2 8.300 2 6.400 4 7.050 2 21.750 2
FAYRKEH=E ES ¥ F2 7.800 4 6.850 2 6.600 3 21.250 3
TAR KRB E £ UOFEY 2 8.200 3 6.600 3 6.100 4 20.900 4
FAYRKIEH=E JKEF Z=f 2 7.200 5 3.700 5 3.900 5 14.800 5
FToRKESST B8 FFRZLF | H2 | 8900 1 7.450 1 7.950 1 24.300 1
FiE K& SR Bk 5 B EHE JIE vk JIE BEEE JIE

SEINO.GYM RO St 3 9.500 1 8.150 2 9.250 1 26.900 1
FTORKEIST L2 BFISE $3 8.800 2 8.550 1 7.300 2 24.650 2

SHM3E10H238 IKBAERY7IILELE—



